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Questions

A is a computer that provides services to other computers on the networks;

Symbol that separates parts in an E-mail, address is;

Which of the following in an Internet Protocol?

Which of is not a leading search engine;

Who is the owner of internet?

A computer can be linked to the internet through;

The world wide web was introduced in;

A collection of related web pages is called;

The correct column address is;

Every all of a worksheet has a unique;

Calling cells by just their address (such as "A1") is called.

For the custom format ##.000, the number 242.59 will appear as;

A worksheet contains rows.

Which of the following functions is used to get the current date?

Formula can be applied on:

Answers Choice

A. Client

B. Terminal
C. Router
D. Host
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. Google

. Yahoo

Excite

. Netscape Navigator

. Bill Gates
Charles Babbage
USA

No one

A phone-line modem
DSL

Cable Modem

All of these

1960s

Mid 1970s
1989
2000

Web-link
Web site
Internet
Linking

AB
15
3D
D3

Row

Column
Address

Both a &amp; b

. Relative referencing
. Absolute referencing
Calling Method
None

. 242.59000
24.2590
242.59
None

65536
256
173214
None

Exact ()

Today ()
Month ()
Year ()

Values

Labels

. Unmerged Cells
None
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